CCCJQR P4

Time limit: 1.0s  Memory limit: 41M
Given two things, A and B, determine either (A + B) or (A — B).

Input Specification

The first line will contain N (1 < N < 106).

The next N lines will contain two integers, A and B, separated by a space. (0 < |A|, |B|, |result| < 10°)

Output Specification

On separate lines, output either (A + B) or (A — B).

Note: Only one of the two is correct.

Sample Input

6

184756 705432
10400600 48620
40116600 2704156
7296836 284923
739274 9001
42069 3829

Sample Output

-520676
10351980
42820756
7581759
748275
38240



